Adpostuenk o Geaspatiil) OL orvabins
BXAM :L? - /7; Oct 2909

L ghast o 0T e allrwed < Vome
[ Ox =2

N X

\/?-: X\*\XQ_

2.
) G:‘z— Q') O:r.x,_:j—

Td =

.y.

2-, ; o ¢ {: /0 aﬂg/dv ore 6L§eNeJ 4o Mﬂf 9‘&
2
Xi

?, The W () what are N, omd r ?%
C. “JQQ (6) ponits tomdition, Spuahins g The obsucrhe
‘:o » Q:Pl_éy_\ M-eﬂ‘%mj». '

4 The

Av = F
Assume H is The st denihiang

M * ’Zr [ 16.0 . . R
z 2, 36° (?mew Mtr
= /(3 = 3.6 S 0',,. Ei,ft v 'E
2| |4s are radians




Daka 1. Bxam 1 sluhoy

22 Oc4 Loafj
\ S . O\x:" 2] N S v e X y
B A I z‘\ Y G ey O ('

Yoz X+ X, yLS" (l! ’ )@L\ 5 Y= Ax

B, Ay A= 180
Ly + R 40, 18D
Ly + 48y +94 = I€0
£ +4£,0= 360

pavems ! Xg)Y,))(z
(' /Q’: Xl

N x
5, Re= fam (7
1, 2= Xy— Xy 6 J (/7')
- £, = +M"' Y;
3‘ /Q? . Yl 6 /LX-,_—!Q))
R
@4\\ P Av=§ A ekl ]
- —| . = e
- e 4s°

Cpeh - uidy w Aot
v RO T T

J \\':L ~ oy \ g s4-
%J&\j‘% = - F A (X"X ) = Z-b‘\wwhk ‘i
l(» ‘ SV

[ Hel) e ’?—-—;,ff§@ | et - % 2)
{s«;bo"\ [0+ tas (30°) - 36 s (4s°)

e T V] (o) - )
[0'5 geeo Tl 5.09 ] (\/J = (5-5.00) =

.09



